


2. b= T gFEcl HsiA vA get A2 o= AAY7F?

@ (29 A8)+ (#AE) @ (99 Hol)+ (18)
® (29 Fu)): (H4) @ (2%)+ (HAB)
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277} 53.38cm?) Y WAL Zolt E emPU7H?

@ 8cm @ 7.5cm @S.Emm
@ 17cm ® 3.14cm

B

(¥F) = (A8) x3.140|2=2
53.38 = (A 2) x3.14 YUYt

(A%) =53.38+3.14 = 17(cm) 0|22
2] 2 9] Aol 8.5cmYYtt.




6.

HF7F69.08 cm @l o] o] & FolH dut
D 34.54 cm? @ 69.08 cm?
@379.94 cm? ® 1519.76 cm?

U7

® 216.91 cm?

B

LR ERENE
(¥F2]2)x2 x 3.14 = 69.08
(§F2]2)x6.28 = 69.08
(FFA]2)= 69.08 = 6.28
(F25)=11(cm)
o] Wo] 1 11x 11 x 3.14 = 379.94( cm?)




